

14 Nov

20/10/20
-1/2/20

Apresento

$$f(n) = \begin{cases} a + \sqrt[n]{n} & ; n < 1 \\ b \sqrt[n]{n} & ; n > 1 \end{cases}$$

→ IR → limite

→ limite →

n → ∞

n=1 → a+1=b

$$f(n) = \begin{cases} a + \sqrt[n]{n} & ; n > 0 \\ b \sqrt[n]{n} & ; n < 0 \end{cases} \rightarrow a+1=b$$

$$b \sqrt[n]{n} \rightarrow (a+1) \sqrt[n]{n} \rightarrow f'(n) = \frac{r_n a}{\sqrt[n]{n}^n} + \frac{r_n}{\sqrt[n]{n}^n}$$

$$\rightarrow \frac{r_n a}{\sqrt[n]{n}^n} + \frac{r_n}{\sqrt[n]{n}^n} = \frac{r_n (a+1)}{\sqrt[n]{n}^n} = 1 \rightarrow r_n (a+1) = \sqrt[n]{n}^n \xrightarrow{n=1}$$

$$a+b = \frac{1}{r} + \frac{1}{r} = \frac{2}{r}$$

$$\rightarrow r_n + r = r \rightarrow r_n = 1 \rightarrow a = \frac{1}{r}$$

1/Nov

$$b = \frac{1}{r} + 1 = \frac{1+r}{r}$$

$$\rightarrow a+b = \frac{1}{r} + \frac{1+r}{r} = \frac{2+r}{r}$$

$$f(n) = \frac{|r_n - \epsilon|}{\sqrt[n]{n}^n}$$

$$g(n) = \frac{\sqrt[n]{n}^n - \epsilon n + \epsilon}{\sqrt[n]{n}^n}$$

1/Nov

$$f'(1) - g'(1) = ?$$

$$f(n) = \frac{-r_n + \epsilon}{\sqrt[n]{n}^n} \rightarrow f'(n) = -r'(\sqrt[n]{n}^n) - \frac{r_n}{\sqrt[n]{n}^n} (-r_n + \epsilon)$$

$$f'(1) = -r - \frac{r}{r} = -r - \frac{r}{r} = -\frac{2r}{r}$$

$$g(n) = \frac{r_n - \epsilon |1 + \sqrt[n]{n}|}{\sqrt[n]{n}^n} = \frac{(-1 + \frac{r}{\sqrt[n]{n}})(\sqrt[n]{n}^n) - \frac{r_n}{\sqrt[n]{n}^n} (r_n - \epsilon \sqrt[n]{n})}{(\sqrt[n]{n}^n)^n}$$

$$(-1 + \frac{r}{\sqrt[n]{n}}) = \frac{-r\sqrt[n]{n} + r}{r\sqrt[n]{n}} = \frac{r}{r} (1 + \sqrt[n]{n}) \rightarrow \frac{-4r + 1 - \epsilon r - 1}{4\sqrt[n]{n}}$$

$$\rightarrow \frac{-4r\sqrt[n]{n} - r}{4\sqrt[n]{n}}$$

Scanned

$$\frac{r}{r} + \frac{r\sqrt[n]{n}}{r} = \frac{r + r\sqrt[n]{n}}{r}$$

1/Nov

$$y = -am - \omega \quad f'(m) - f(m) = r \quad -4/200$$

$$\frac{f(m)}{f'(m)} \rightarrow$$

$$-a + ma + \omega = (a + \omega) = r \quad \left[\begin{array}{l} f'(m) = a \\ f(m) = -ma - \omega \end{array} \right. \rightarrow m = -r$$

$$\rightarrow a = -\frac{r}{r} \checkmark \rightarrow \frac{f(m)}{f'(m)} = \frac{-r - \omega}{\frac{r}{r}} = \left(-\frac{1}{r} \right) \checkmark$$

$$f(m) = \left(m^r + \frac{1}{r} \right)^r + 1 \quad g(m) = \frac{1}{\sqrt{m^r - 1}} \quad -4/200$$

$$(f \circ g)' \left(\frac{m}{r} \right) \rightarrow g' \left(\frac{m}{r} \right) f' \left(g \left(\frac{m}{r} \right) \right) \rightarrow g' \left(\frac{m}{r} \right) \times f'(r)$$

$$\left[m^r + \frac{1}{r} \right] = \varepsilon \rightarrow f'(m) = m^{r-1} \rightarrow 4\varepsilon \quad \checkmark$$

$$g'(m) = -\frac{m}{m^{\frac{r}{2}} \sqrt{m^r - 1}} = \frac{-\frac{m}{\sqrt{r}}}{\frac{m}{\sum}} = \frac{-\varepsilon}{\sqrt{r}} = \frac{-\varepsilon \sqrt{r}}{r} \checkmark$$

$$\frac{-\varepsilon \sqrt{r} \times 4\varepsilon}{-121\sqrt{r}} \quad \left(1 \right) \checkmark$$

$$g'(m) = f'(m+1) = m f'(m+1, 0)$$

$$g'(-1) = f'(-1) + m f'(\varepsilon)$$

$$f'(-1) = f'(\varepsilon) = \frac{r}{r}$$

$$g'(-1) = \frac{r}{r} + \frac{r}{r} = 2 \quad \checkmark$$

Scanned with

$$\lim_{h \rightarrow 0} \frac{f'(a-h) - f'(a-h) + f}{h(a-h)}$$

9

$$f(h) = (a-h)^{\frac{1}{m+1}}$$

$$\frac{f' - f' + f}{h(a-h)} = \frac{(t-1)(t-1)}{h(a-h)}$$

$$\frac{f(a-h) \cdot 1}{a-h} \times \frac{f(a-h) - f}{h} = \frac{f'(a)}{a} \quad \left(= -\frac{a}{12} \right) \checkmark$$

$$uy = \frac{1}{m+1} \rightarrow y = \frac{1}{m+1} \rightarrow m = \frac{1}{y} - 1$$

$$y_m - \varepsilon = f$$

$$-1 \leftarrow \text{selection}$$

$$n = 1 \rightarrow (1, 1) \checkmark$$